Revision 5 – Ratio Analysis
I.
Summary

1.1
To evaluate a company’s financial position and performance, we commonly apply ratio analysis to compare financial ratios derived from its financial statements and financial statements of other companies. Through evaluating a company’s past financial position and performance with ratio analysis, we may be in a better position to forecast its future.

1.2
Once ratios are calculated, comparisons can be made with:

(i)
trend analysis – how an organisation’s performance compares with that of previous years; and

(ii)
cross-sectional comparison – how its performance compares with that of other organizations operating within the same sector or with industry averages at the same point in time.

1.3
Ratio analysis is applied to evaluate a company’s financial position and performance in the following areas:

(i)
Liquidity ratios;

(ii)
profitability ratios;

(iii)
management efficiency ratios;

(iv)
capital structure ratios; and

(v)
investment ratios.

1.4
The limitations of ratio:
(i)
ratio analysis is concerned with trends over a period of time. It is, therefore, of little use without comparative information from previous accounting periods or other organizations;

(ii)
changes in an organisation’s accounting policies may make comparisons over a number of years difficult. Whilst variations in the accounting policies adopted by different organizations must be taken into consideration when making comparisons with other organizations;

(iii)
ratios are based upon past performance and hence historical data. Although they can indicate future trends there is no guarantee that these forecasts will be correct;

(iv)
economic conditions must be taken into account when interpreting trends. For example, if interest rates are high, the ROCE will need to reflect this;

(v)
the ratios calculated are only as good as the information on which they are based. The preparation of any financial statements will necessitate estimates being made with regard to items such as bad debts, the revaluation and depreciation of fixed assets, and the outcome of any legal proceedings. Should any of these estimates be significantly incorrect, the ratios and the accounts upon which they are based will also be adversely affected.

(vi)
individual ratios should not be considered in isolation. To be used properly a number of the ratios discussed in this chapter need to be calculated and the overall reviewed. To calculate only one or two ratios might be misleading. For example, a business might on paper have a ROCE of 20% and a net profit of 25%, however, its credit control might be poor. Consequently, although profitable on paper, poor management of working capital might lead to cash flow problems resulting in the organization being forced to cease trading.
1.5
The following table is the summary of ratios which are discussed above:
	Group
	Ratio
	Formula

	1. Liquidity
	(a) Current ratio
	Current assets/current liabilities

	
	(b) Acid test
	(Current assets – stock)/current liabilities

	2. Profitability
	(a) Gross profit margin
	Gross profit/sales

	
	(b) Net profit margin
	PBIT/sales

	
	(c) Return on total assets
	PBIT/total assets

	
	(d) Return on capital employed
	PBIT/capital employed x 100%

	
	(e) Return on shareholders’ capital
	Profit before tax/share capital and reserves x 100%

	3. Management efficiency 
	(a) Fixed assets turnover
	Sales/fixed assets

	
	(b) Inventory turnover
	Average inventory held/annual cost of sales x 365

	
	(c) Debtors collection period
	Average debtors/annual credit sales x 365

	
	(d) Creditors turnover period
	Average trade creditors/annual credit purchases x 365

	4. Capital structure
	(a) Debt ratio
	Total liabilities/total assets x 100%

	
	(b) Equity ratio
	Total owner’s equity/total assets x 100%

	
	(c) Gearing ratio
	Long term debt/capital employed x 100%

	
	(d) Interest cover
	PBIT/interest charges

	5. Investment ratios
	(a) Dividend cover
	Profit after tax less preference dividend/total dividend

	
	(b) P/E ratio
	Current price per share/EPS

	
	(c) Dividend yield
	Dividend per share of previous year/current market price per share x 100%

	
	(d) Earnings yield
	EPS/Current market price per share x 100%


II.
Examination Style Questions
Question 1

(a)
Financial statements are used by various parties to assist them in making economic decisions. To make those decisions, decision-makers analyse the financial statements. Financial statement analysis is the process of identifying significant relationships concerning the entity’s performance using various analytical techniques like the computation of financial ratios. Although ratios offer a quick and useful method of analyzing the position and performance of a business, they are not without their problems and limitations.

Required:
(i)
Briefly discuss the use of financial ratios in assessing the following aspects of business performance:

(1)
profitability,

(2)
management efficiency,

(3)
liquidity, and

(4)
capital structure.
(4 marks)

(ii)
Briefly discuss the limitations of financial ratios in financial statement analysis.



(4 marks)

(b)
Flamingo Ltd is a family-owned garment manufacturer. For a number of years the chairman and managing director of the company was David Chan. During his period of office, the company’s sales had grown steadily at a rate of between 2% and 3% each year. David retired on 30 September 1999 and was succeeded by his son Samuel. Soon after taking office, Samuel decided to expand the business. Within weeks he had successfully negotiated a five-year contract to make a range of sports and leisurewear items for a large garment retailer. The contract will result in an additional $1 million sales during each year of the contract. In order to fulfill the contract, new equipment and premises were acquired by Flamingo Ltd.

Financial information concerning the company is given below.

Income statements for the years ended 30 September

	
	1999
	2000

	
	$000
	$000

	Turnover
	18,904
	22,730

	
	
	

	Profit before interest and tax
	1,828
	2,084

	Interest charges
	(44)
	(162)

	Profit before tax
	1,784
	1,922

	Taxation
	(716)
	(770)

	Profit after tax
	1,068
	1,152

	Dividend
	(240)
	(240)

	Net profit for the year
	828
	912


Statement of financial position as at 30 September

	
	1999
	1998

	
	$000
	$000
	$000
	$000

	ASSETS
	
	
	
	

	Non-current assets
	
	
	
	

	Premises (net)
	
	10,480
	
	14,720

	Plant and equipment (net)
	
	4,750
	
	8,114

	
	
	15,230
	
	22,834

	Current assets
	
	
	
	

	Inventories
	4,772
	
	6,840
	

	Trade receivables
	5,080
	
	8,560
	

	Cash
	254
	
	-
	

	
	
	10,106
	
	15,400

	Current liabilities
	
	
	
	

	Trade and other payables
	2,314
	
	4,490
	

	Taxation
	956
	
	1,010
	

	Bank overdraft
	-
	
	4,848
	

	
	
	3,270
	
	10,348

	Net current assets
	
	6,836
	
	5,052

	
	
	
	
	

	Total assets less current liabilities
	
	22,066
	
	27,886

	Non-current liabilities
	
	
	
	

	Loans
	
	(2,440)
	
	(7,348)

	Net assets
	
	19,626
	
	20,538

	
	
	
	
	

	Capital and reserves
	
	
	
	

	Issued capital
	
	4,000
	
	4,000

	Accumulated profit
	
	15,626
	
	16,538

	
	
	19,626
	
	20,538


Required:
(i)
Calculate the following ratios for each year:

(1)
net profit margin,

(2)
return on capital employed,

(3)
current ratio,

(4)
gearing ratio,

(5)
trade receivables turnover (in days), and

(6)
net asset turnover.

Show all workings and round your answers to one decimal point.
(12 marks)

(ii)
Using the above ratios, and any other ratios or information you consider relevant, comment on the results of the expansion programme.
(5 marks)



(Total 25 marks)
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Question 2
You are the Financial Controller of Merry Limited. Merry Limited is planning to acquire another company, Happy Limited. To facilitate their decisions, you are asked by the Board of Directors to provide information and comments on the financial position of Happy Limited. The balance sheets and income statements of Happy Limited for the years ended 31 December 2003 and 2004 are as follows:

Happy Limited

Income statement for the year ended 31 December

	
	2004
	2003

	
	$000
	$000

	Revenue
	31,450
	24,050

	Cost of sales
	(22,015)
	(17,797)

	Gross profit
	9,435
	6,253

	Distribution costs
	(740)
	(851)

	Administrative expenses (1)
	(1,184)
	(1,425)

	Other operating expenses
	(222)
	(185)

	Profit before tax
	7,289
	3,792

	Income tax expense
	(1,739)
	(648)

	Profit after tax
	5,550
	3,144

	Dividend paid
	(3,330)
	0

	Profit for the year
	2,220
	3,144


Notes:

(1)
Interest expenses of $74,000 and $18,500 for the years ended 31 December 2004 and 2003 respectively are included in administrative expenses.

(2)
All purchases and sales are on credit.

Happy Limited

Statement of financial position as at 31 December

	
	2004
	2003

	ASSETS
	$000
	$000

	Non-current assets
	
	

	Property, plant and equipment
	15,244
	7,400

	
	
	

	Current assets
	
	

	Inventories
	1,369
	888

	Trade receivables
	3,552
	2,220

	Cash and cash equivalents
	0
	925

	
	4,921
	4,033

	
	
	

	Total assets
	20,165
	11,433

	
	
	

	EQUITY AND LIABILITIES
	
	

	Equity attributable to equity holders
	
	

	Share capital
	1,850
	370

	Share premium
	740
	0

	Revaluation reserve
	0
	2,590

	Retained earnings
	11,100
	6,290

	Total equity
	13,690
	9,250

	
	
	

	Non-current liabilities
	
	

	Long-term borrowings
	1,850
	0

	Total non-current liabilities
	1,850
	0

	
	
	

	Current liabilities
	
	

	Trade payables
	3,811
	2,183

	Bank overdraft
	814
	0

	Total current liabilities
	4,625
	2,183

	
	
	

	Total equity and liabilities
	20,165
	11,433


Required:
(a)
Discuss the difficulties of using ratio analysis as a tool for investors.
(6 marks)

(b)
Calculate the following ratios for 2003 and 2004:

(i)
Return on capital employed

(ii)
Net assets turnover

(iii)
Net profit margin

(iv)
Current ratio

(v)
Quick ratio

(vi)
Inventory turnover

(vii)
Accounts receivable collection period

(viii)
Accounts payable payment period

Note: Your answers should be rounded up to 2 decimal points.
(8 marks)

(c)
From the information given in the question and with the aid of the results in (b), comment on the profitability, liquidity, gearing and the overall financial position of Happy Limited.
(11 marks)



(Total 25 marks)
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Question 3
Park Ltd., a logistic company, is considering to expand its operation through acquisition and the company has identified two potential targets for the purpose – Bay Ltd. and Sea Ltd. Park Ltd. focuses on serving high end clients and places a lot of emphasis on services. Park Ltd. wishes to acquire a low risk company with a similar business strategy. Based on the latest published financial reports and information, the accountant of Park Ltd. has calculated the following ratios for comparison:

	
	Bay Ltd.
	Sea Ltd.

	Return on capital employed
	30%
	24%

	Gross profit margin
	22%
	32%

	Net profit margin
	15%
	20%

	Net assets turnover
	2 times
	1.2 times

	Debtors collection period
	60 days
	45 days

	Accounts payable period
	40 days
	50 days

	Current ratio
	0.9
	1.8

	Gearing ratio
	35%
	20%


Required:

(a)
Explain the limitations and usefulness of ratio analysis based on published financial reports.
(10 marks)

(b)
Evaluate the financial performance of Bay Ltd. and Sea Ltd. and advise which of the two companies is a more desirable takeover target for Part Ltd.

Your evaluation and analysis should cover the followings:

Profitability;

Return on capital employed;

Working capital management and liquidity, and;

Gearing ratio.


(15 marks)


(Total 25 marks)
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